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An Introduction to
Profitseeker:

Crop/Enterprise Screening Guide

This presentation is a self-guided introduction to
using Profitseeker. You should have a copy of
the following publication to follow as you use
this guide.

“A Market Driven Enterprise Screening Guide”

by
Ramiro Lobo, Larry Lev and Stuart T. Nakamoto




An Introduction to
Profitseeker: Crop/Enterprise Screening Guide

Why Profitseeker was created

People often consider new opportunities:

« A new crop

* A new way of producing an existing crop
* A new way of marketing an existing crop
A new use for an existing crop

This “enterprise diversification” is a common risk
management strategy
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The problem:

ldentifying and evaluating opportunities
with good, long-term profit potential
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Characteristics of promising opportunities

Adequate target market

Extended production and marketing season
Complementary to existing operation

Difficult to produce and/or market

Expensive to get started

Crops have potential for value-adding activities
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The problem:

ldentifying and evaluating opportunities with
good, long-term profit potential

A solution:

Profitseeker helps you evaluate promising
opportunities using these characteristics
and your information
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Overview of Profitseeker: Crop/Enterprise Screening Guide
o Profitseeker first helps you describe your alternatives

 Then you rate the alternatives using a series of questions.
These ratings are similar to a product comparison sheet
which lists the information for a number of product
characteristics, such as color, price, size, and years of
warranty.

* Finally compare your alternatives

The guide is set up for 3 alternatives.
We suggest including a current enterprise to give a known point

of comparison.
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We will follow the example of the Profitseeker
family to explore the various parts of the
worksheet.

Start by reading about the background of the
Profitseekers on page 7. Then we’ll move
Into the example starting on page 8.
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Profitseeker Family Background

Current operation:

Located in Southern California
20 acres, mixed vegetables
Sell to wholesalers and farmers’ markets

Husband does production and wholesale,
Wife does farmers’ markets

Permanent crew; hire casual labor as needed.
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Profitseeker Background (continued)

Current crop -- Pole tomatoes
» |largest acreage & most revenues.

 BUT declining profitability from more year-round,
low cost competition (imports & greenhouse)

Possible alternatives:
e helrloom tomatoes
e Dblueberries




Sample Case

Descriptive Section
These five initial questions help you define vour alternatives and focus your thoughts for the rest of the
comparison.

1. Describe in as great detail as possible the product that you are considering producing.
Option 1: Pole tomatoes

Option 2:Heirloom tomatoes grown in hoop houses
Option 3:Hand harvested blueberries
2. For each product, describe your target

a. Consumer(s) and Market Outlet(s), and
b. Season(s)

Polet : Sold 1o who 1 1 1

e e The Descriptive Section (page 8):
Heirloom tomatoes: Sell din

Jfocus on harvesting outside ¢

e s @ NEIPS tO define alternatives

market in the early season (.

3. What special requirements, |

* helps focus thoughts for the rest of

Pole tomatoes: Summer pric
Heirloom tomatoes: Frost & th :
varieties, cultural practices, e C O I I l p a rl S O n "

Blueberries: Mastering production challenges including soil pH management, possibility of frost in the
winter

4. Who are/will be your competitors?
Pole tomatoes. Other loc

waonones Lo Ta Profitseekers started by making

Blueberries: Imports froi
market windows. The Prc

~asorcaninar @ COPY OF the blank form and setting
e ae aside the original for later use.

I]r’(’ PI'Qﬁf.S'C[?k[?T.S (VON.S?.(]("?' e Jounowing ay compelitive aavaniages--sormerning tndr gives thei dn - edge --
over other competitors.

Pole tomatoes: proximity to markets, higher quality, better flavor; freshness

Heirloom tomatoes: hoop house reduces frost & disease problems; knows tomatoes, access to farmers
markets as a current vendor, also all of the pole tomato advantages listed above.

Blueberries: locally grown, fresh, proximity to afffuent market, seasonal availabilitv/market window, high
demand as function of health trends, access to location-specific research.




Sample Case

Descriptive Section
These five initial questions help you define vour alternatives and focus your thoughts for the rest of the

comparison.
— — — _— — _— — _— — _— — _— — _— — _— — _— — _— — L
1. Describe in as great detail as possible the product that you are considering producing. I
I Option 1: Pole tomatoes
I Option 2:Heirloom tomatoes grown in hoop houses I

1. Describe in as great detail as possible the product that you are considering producing.
Option 1. Pole tomatoes

Option 2:Heirloom tomatoes grown in lioop louses

Option 3. Hand havvested blueberries

Y I T S P T T T T U CIITC IITS P DT I U ITe T, O T IICy O Y Ot T T T T T TIT (T PT O TIT S TIIIer | U I T ICC T T
1a o ~t+7
|| this product?

The Profitseekers use their main crop Pole tomatoes as

option 1, so they have a good basis for comparing the
other options.

Option 2 will be Heirloom tomatoes grown in hoop
houses for an extended season.

Option 3 will be hand-picked Blueberries. Hand-picking
IS needed to get high quality for the markets they want to

target.
T Wessern Cantar for A
Tttt oTm T T T 2 _LI Reak Managermert Education ‘
Blueberries: locally grown, fresh, proximity to affluent market, seasonal availabilitv/market window, high i I'—? TACHRERE 75
demand as function of health trends, access to location-specific research.



Sample Case

Descrintive Section

b2

For each product, describe your target
a. Consumer(s) and Market Outlet(s), and
b. Season(s)

Pole tomatoes: Sold to wholesalers and at farmers markets, depending on price and season. Generally
avoid harvesting in summer months when prices are weakest.

Heirloom tomatoes: Sell directly to restaurants and in farmers markets in the region. Year-round but will
Jocus on harvesting outside of the summer months

Blueberries: Sell directly to restaurants and in farmers markets in the region. Will focus on being in the
market in the early season (March-May) and late season (October-December).

| 3. What special requirements, problems, barriers, or risks do yvou anticipate in (a) producing and (b) marketing
this nrodnet?

Q2 has two parts.
a. In general, Profitseekers target higher-priced markets.

b. Summer is a bad time for tomatoes, as that is when
everybody produces them.

Blueberries have two good “market windows” —
opportunities provided when they can produce and there
IS NO competltlon from out- of state |mports

e e e .
Heirloom tomatoes: ]iOOp house reduces ﬁasr & (.’fse(.'seprobfems knows tomatoes, access to farmers
markets as a current vendor, also all of the pole tomato advantages listed above.

The Weatern Contar for .}
sk Mamsgermert Edutation =8

Blueberries: locally grown, fresh, proximity to affluent market, seasonal availability/market window, high
demand as function of health trends, access to location-specific research.




‘ Descriptive Section ‘
These five initial questions help vou define vour alternatives and focus vour thoughts for the rest of the

Q3 & Q4 are straightforward about downsides and
competitors

Q5 is asking about competitive advantages — anything that
might provide an “edge” in growing and marketing a crop.

| b. >Season(s) |

3 Y SRR S L TN I RPYS A

For all crops closer to markets than competrtors

Heirloom tomatoes: hoop houses to help control frost and
disease; already in farmers’ markets

_____

N Blueberries: high-income buyers, market window,
healthy product Unrversrty & Extensron research |n area

| AriCUCIIIeD. g prudaciy rE OULe fraa = 5 PUDDICLLILY U IV L |

What are your competitive advantages, 1f any, in producing this new crop? Consider your competitors,

location, regulations, seasonality, production costs, and others.

The Profitseekers consider the following as competitive advantages--something that gives them an “edge”--

over other competitors.
Pole tomatoes: proximity to markets, higher quality, better flavor, freshness

Heirloom tomatoes: hoop house reduces frost & disease problems; knows tomatoes, access to farmers
markets as a current vendor, also all of the pole tomato advantages listed above.

Blueberries: locally grown, fresh, proximity to afffuent market, seasonal availabilitv/market window, high

demand as function of health trends, access to location-specific research.

I demand as function of health trends, access fo location-specific research. l'%__[
\— g :

- .



The Crop/Enterprise Screening Worksheet

“NA” for questions that are not applicable and a 7 where you are unable to provide even a guess.

MARKET SCREENING PROCESS: Using the scale described for each question, please assess your ability to perform the task
described or your understanding of the particular issue presented in relation to the crop alternatives you are considering. Use

option.

It again.

RAAPISETIRIA ALIFOATIARS §4 | o a

| ——iio

The Screening Worksheet asks various !
guestions to help us with our evaluation. :
sEach question has a 1 to 5 rating. i
*Use “na’” if the question does not apply to that 3
5

3

*Use a “best guess” when you need to, and a ;
“?” if you really don’t know. (You can always :
change an answer) 5
4-5

Make a copy of the blank form so you can use ——
16. How do the marketing costs of the product compare to your current costs in terms of na 2 1

packaging, preparation time, transportation costs, etc.? (1=higher, 3= same, 5=lower)
17. Assess the competition you will face in selling this product. (1=strong. 5=weak ar none) 1 2 3
18. Can you protect your market from new growers coming in? (1=no, 5=yes) 1 2 2




[ Ll T T T S

The first two questions ask how well you can describe the &

product, and target consumer or market.
I'T;;_fjjszf:;. e ARG AUESHON S 1 o o o o _.ﬁﬁl
1. How precisely can you describe the “marketable” product? (1=difficult, 5=easy) 5 4 4
2. How precisely can you describe your target consumer, outlet, or market? (1=difficult, 5=easy) 9 3 3
I I
-rB. 'f"wm?‘?mfe*:”“??*?b'ﬁd e Nt e o n S o o e omen k| — = Y | = =
Q1. Marketable product ~. Q2. Consumers & markets
Profitseeker knows pole tomatoes " Profitseeker knows pole tomato
better than the other two crops =2 “5” ., markets and consumers well = “5”
heirloom tomatoes: what specific - Restaurants are a new market, so
varieties? Pack & sell with single or — heirloom tomatoes: =2>“3”
double layer lugs? Use padding? Heis ~ blueberries: 2 “3”
familiar with tomatoes in general 2 “4”. ., sy 2 4 5
. . f production? (1=no, 5=yes) 3 4 5
Blueberries: well-known product, fairly -———— %0 7%
. . , ing product? na 4 3
standardized packaging for farmers
markets and restaurants = “4” nt needed? (1=not atal, 5=verywel) | na 4 45
14. How much control will you have over price per unit? (1=low, 5=high) 2 3-4 3-4
15. Can you differentiate your product to get a price premium or enhance market access in 2 3 4
terms of a local or regional brand, certification or labeling, product atiributes/charactenistics?
(1=no, &=yes)




| *__among the product, markets, and final consumers. ,
2 _Hmﬁé_r’:jg]éfﬁf‘"________ﬂ- s rargel Tonsumer_outlet, or @'rké’[_?']’?ﬁﬁ'&&_&f_ﬁéré@"l"l"'_[;"'a‘_" S
3. ToWwhat extent are there established channels to reach that consumer, outlet and/or market? 5] 4 3

(1=none, minimal; b=well established)

4 How familiar are target consumers with the product? (1=no awareness, 5=well known) 5 d d
vl e\ eas|y=en you Meel (hesspoelic reguiremcies| peur (aseciodss i/ Meskciots o G | ] —
- (1=not confident. b=extremelv confident) T

5. Q3. channels 4 3
7 The distribution system for pole tomatoes is known 2“5” ; 5
% Profitseeker knows less about the marketing channels for 3
% options 2 & 3, especially for restaurants. Heirloom o
' tomatoes: >“4". M

1 4 5
1. Blueberries: this will be a new crop in the traditional off- 4 5
| season, so the marketing channels will need to be
' established. 2“3 o s

14 -4 3-4

i+ Q4. Targeted consumers are equally familiar with all three  ; 4

products. All 2“5”

16. How do the marketing costs of the product compare to your current costs in terms of na 2 1

packaging, preparation time, transportation costs, etc.? (1=higher, 3= same, 5=lower)




product to market? (1=difficult, 5=easy)

1_ —l——l_{]w_ nreciceob:s o ucic donnriba_tha Sroorlbatobla? reeduetD  sd it L onnmed o _________ J.____E____l____d____J§ 4

2 Questions 5 & 6 ask about potential barriers to the js

*.__market, and your ability to overcome them .

b nT.Tmmgeﬁdﬁﬁ-e—;ntHe el Ll bk (e ipmmecuEm G- (ve)) w— — J— S | o —p

5. How easily can you meet the specific requirements of your targeted outlets/markets? 5 3 4
{1=not confident, &=extremely confident)

6. How confident are you that you can overcome significant problems or barriers to get the 5 4 3

f. How available are market and price data? (1=none, minimal: 5= very available) 5 3 3

8. What are the per unit price trends? (1=down, 3=flat, 5=up) 2 4 3
|% A< Q5. Farmers markets are ok. For restaurants, pole tomatoes |_°
|0 A" are known = “5” 5

11. Is 3
[ 12 1 Restaurant specifications might be more of a problem for 5
| ™ heirloom tomatoes: =2 “3”, less with blueberries = “4”

13. Tc 4-5
12 1 Q6. Profitseekers are experienced with tomatoes so are pretty | 34
[ 15 c. confident with heirloom tomatoes: - “4” 4

tel
| = They are more uncertain about blueberries especially the

15. He timing of their production =2 “3”. 1

paurxubmb, pl'G‘pEJIC]LIUII LIS, LIUIIDPUILC]LIUII LD, Tl & [ T=TIYINNGD, O= adililie, J=IUwWeE)

17. Assess the competition you will face in selling this product. (1=strong. 5=weak or none) 1 2 3

18. Can you protect your market from new growers coming in? (1=no, 5=yes) 1 2 2




6. How confident are you that you can overcome significant problems or barriers to get the 5 4 3
P OGC! ouiaMeal? widmifionl!, ompgsyjmmm . . . o EE e e = 1
f. How available are market and price data? (1=none, minimal: 5= very available) 5 3 3 I

! 8. What are the per unit price trends? (1=down, 3=flat, 5=up) 2 4 3
I 9. How variable are the prices? (1=highly variable, 5=stable) 1 3 3 I
d

'ﬂ 1T=Are Merfattratve TarkETWiriws™hatou fam fillr= (=m0, 5=y == == == == =m =2 -r ™ T =

Questions 7 to 9 cover the availability of data and your ability to use the data —

- Q7. Good data exists for pole tomato and blueberries. 2 “5”
" Prices chefs would offer are unknown so heirloom tomato: =2 “3”

Q8. Pole tomato =2 “2" because prices are decreasing from more

| year-round competition. Heirloom tomato - “4” seem more positive
because of buyer interest, plus will be 100% direct marketed. No

- trend identified for blueberries 2 “3” —

| | | |

: Q9. Profitseekers are experienced with tomatoes so are pretty
confident with heirloom tomatoes: -2 “4”

They are more uncertain about blueberries especially the timing of
their production =2 “3”.




4. now Ttamiliar are target consumers with the proauct/ (1=no awareness, S=well known) | J | J | J

5 Questions 10 & 11 involve market windows and the
size of the market (market windows are times when  *

o ]

7. competition in the market is less) 5
8 Whata}é}'tfr? _____________ y=gown, s<fat, 6=up) | 2 74 | s
I g Rt nmrram‘e':ﬁﬁﬁz—a'mcés? (FEMghlTVeriaMe =Sl ™= == == =—m ——me—- e ™ =3 [
I 10. Are there attractive market windows™ that you can fill? (1=no, 5=yes) 2 4 3 I
11. Is the size of the market adequate for your projected volume of production? (1=no, 5=yes) 3 4 3

I =1 2=FowHo yorratethe ProfitPote il cOMparfed (CYOureRsifr protct= == == == == mr 7= &~ === l

- Q10. Pole tomato 2 “2” because other large producers are in the
- market year-round. Heirloom tomato competitors are smaller and
-~ less experienced =2 “4” There is strong year-round demand for
blueberries, which Profitseeker can produce before and after other
- growers, and farmers markets do not allow imports 2 “5” —

| | | |

. Q11. The market size is rated average for pole tomato =2 “3” There _|
. are more opportunities for heirloom tomatoes -2 “4”, and .
_ Profitseeker is confident all his blueberries could be sold 2 “5” .




3. To what extent are there established channels to reach that consumer, 0ut|etand:‘brmarket?| ] | 4 | 3

‘ Questions 12 & 13 are about profitability

4.

I 3

5 | 14,15 & 16 involve pricing and costs 4

6—: 17 & 18 are about the competition 3
product to market? (f1=difficult, 5=easy)

7. How available are market and price data? (1=none, minimal- 5= very available) ] 3 3

8 What are the per unit price trends? (1=down, 3=flat 5=up) 2 4 3

9. How variable are the prices? (1=highly variable, 5=stable) 1 3 3

10. Are there attractive market windows™ that you can fill? (1=no, 5=yes) 2 4 d

. Is the size of the market adequate Tor your projected volume of production’s {f=no, 5=yes)

12. How do you rate the profit potential compared to your existing product? na 4 9
(1=lower, 3=same, b=higher)

I
I' e 3 ) (et oyt s S prei pobentiate s tipsth oy o st e e cshee] 7 s ot | mSeyo pe))) m— e —— | — 5 —
I- el [y rerch e trokwil| yeu fewe over pree pemein i {fow, Sog)) m— —— — - - e | g e =ged

15. Can you differentiate your product to get a price premium or enhance market access in 2 3 4 I

terms of a local or regional brand, certification or labeling, product attributes/characternistics?
{1=no, b=yes)

16. How do the marketing costs of the product compare to your current costs in terms of na 2 1
T "Packmying prefaratim tinTe, trdMSpoMatorTTosts, ete™ ™ (1=M0her o= sdme, o=rower/™ . = = = T == = ==

mhb. AaSesatie campatibtionou will fags.n sallingudhis roduct, (1EsloNged=Waal 0REa C e - | — - - -

18. Can you protect your market from new growers coming in? (1=no, 5=yes) 1 2 2




r__q

Q12. Profit potential. Since the comparison is against the existing product,
there is no rating for pole tomato -2 “na.” Both alternatives look
promising to the Profitseekers, with blueberries having higher potential.
Heirloom tomatoes = “4”, blueberries 2 “5”

Q13. Investment vs profit. Again, pole tomato = “na.” Heirlooms will
require hoop houses, and blueberries involve costs to establish the fields
and grow them out before any harvests. But Profitseeker believes the profit
potential is high, with a small edge for blueberries.

Heirloom tomatoes 2 “4”, blueberries 2 “4-5”

10. Are there attractive market windows™ that you can fill? (1=no, 5=yes) 2 4 3
™. TSThe™Stze OMtheMMarkErad Shateor your fiofeclBT vdMhe B prdMctiom™? (Mo, Toyes s T I |™™4 ™| ™5 _I
12. How do you rate the profit potential compared to your existing product? na 4 3
(1=lower, 3=same, b=higher) I
13. To what extent does the profit potential justify the investment needed? (1=not at all, 5=very well) na 4 4-5 I
15. Can you differentiate your product to get a price premium or enhance market access in 2 3 4
terms of a local or regional brand, certification or labeling, product attributes/characteristics?
{1=no, b=yes)
16. How do the marketing costs of the product compare to your current costs in terms of na 2 1

packaging, preparation time, transportation costs, etc.? (1=higher, 3= same, 5=lower)

17. Assess the competition you will face in selling this product. (1=strong. 5=weak or none) 1 2 3

18. Can you protect your market from new growers coming in? (1=no, &=yes) 1 2 2




lQ

14,15 & 16 involve pricing and costs

_° |

Q14. Pole tomato =2 “2” is a blend between a “1” in the wholesale market
and “3” in farmers markets, where other vendors affect prices for all three
alternatives. There is somewhat more control in restaurants, so heirloom
tomatoes and blueberries =2 “3-4”

Q15. Pole tomato is again a blend of “1” in wholesale and “3” in farmers
market =2 “2”. Profitseeker anticipates some consumer loyalty for

heirloom tomato =2 “3”, and the potential market window rates

blueberries =2 “4”.

Q16. Packaging and handling for restaurants will be higher cost so
heirloom tomato 2 “2”, while expensive hand picking and uncertain
packaging for blueberries =2 “1”

[ == 3= WITSt eXTht BUEs T2 prBM patEhti A st the e SMerT e el ? Trnol ™ al B2V e =™ 1= [ 4= | ==3.5== I
I 14. How much control will you have over price per unit? (1=low, 5=high) 2 3-4 3-4 I
15. Can you differentiate your product to get a price premium or enhance market access in 2 3 4
I terms of a local or regional brand, certification or labeling, product attributes/characteristics? |

I {1=no, b=yes)
16. How do the marketing costs of the product compare to your current costs in terms of na 2 1 I
I packaging, preparation time, transportation costs, etc.? (1=higher, 3= same, 5=lower) |
Rem |=if fBOCSEHIC GOMDSHIONmEL wil faeesin seling=his produst (fmskong==s=imem ommencimm = lmm (| m—) — = =-—
18. Can you protect your market from new growers coming in? (f=no, =yes) 1 2 2




| ™ “Packaging; preparation time; transpoftation Costs, etc™? (1-higner, o= same, &=lower) | | |
I 17. Assess the competition you will face in selling this product. (1=strong. 5=weak or none) 1 2 3
I 18. Can you protect your market from new growers coming in? (f=no, =yes) 1 2 2

S

- alternatives so pole tomato =2 “1” .

" blueberries = “3".

-~ so for wholesale markets so pole tomato =2 “1”

" and blueberries =2 “2".

terms of a local or regional brand, certification or labeling, product attributes/characteristics?
(1=no, 5=yes)

== SRR EA T Ll S LI e I it SIS S k= L= LB LSS A LE i LTI IR S L b Z UL LS L A S QLS L LT o) L e o S i i —
3. To what extent are there established channels to reach that consumer, outlet and/or market? 9 4 3
(1=none, minimal; b=well established)
4. How familiar are target consumers with the product? (1=no awareness, &=well known) 5 9 3
. 17 & 18 are about the competition 4
. ] ]
6. H{:Jw confden t are you that you can overcome significant problems or barriers to get the ‘ 5 ‘ 4 ‘ 3

Q17 Competltlon IS the main reason the Profitseekers are looking for —
There will also be competition
~ from other local producers for heirloom tomatoes 2 “2”.
- and other local producers are factors, but demand is growing so

Imports

Q18. Some customer loyalty is anticipated in farmers markets. Not
. They are new to
" restaurants but believe they could gain loyalty; heirloom tomatoes

16. How do the marketing costs of the product compare to your current costs in terms of

na

2

"4

I



L

_— Questions 19-23 relate to information S
— = = = = == HFORMAHON QUESHONG= == == == == = o s

Internet, library, etc.) (1=low, 5=high)

-y
19. Rate your knowledge about production of this crop/product. (1=iow, novice; 5=high, expert) 3 4 2 |
20. Rate your knowledge about marketing of this crop/product. (1=low, novice; S=high, expert) 3 4 2 [
21. Rate the availability and access of information needed for your area (Extension agent, 3 4 3 I
. |

B b ek e ot | e el oimti Omema s e ey i SO D e T e qemjpymem sfm s e |- —

novice; S=high, expert)

23. Are you willing to do what it takes to get all information needed? (1=no, 5=yes) na 3 3

Q19-20. The Profitseekers know pole tomato = “5”. Because it Is
similar but still a new crop, and restaurants’ requirements are also
new heirloom tomato = “4”. Blueberries are totally new with
different growing and marketing requirements -2 “2”.

Q21. Pole tomato is a conventional crop with a wealth of information
- “5”  and there is information from other parts of the country for
heirloom tomato =2 “4”. There is also information for blueberries
but as a new crop, there is limited expertise in the region = “3".




Pole Heirloom Blusberry
INFORMATION QUESTIONS tomato omata 1_,
19. Rate your knowledge about production of this crop/product. (1=iow, novice; 5=high, expert) 3 4 2
20. Rate your knowledge about marketing of this crop/product. (1=low, novice; S=high, expert) 3 4 2
21. Rate the availability and access of information needed for your area (Extension agent, 3 4 3
I — ﬂntmt‘lﬂarﬁtcﬂﬁ.‘ﬂﬂ' 5@'%' N I I S S S S D B D e S (S | . -
22. Rate your knowledge of the laws and regulations associated with this crop/enterprise (1=low, 5] 3 3
I naovice; S=high, exper)
| 23. Are you willing to do what it takes to get all information needed? (1=no, 5=yes) na 3 3

Q22. The Profitseekers are confident in their knowledge for pole

tomato 2 “5”, but need to learn more about the regulations related

to restaurant sales for heirloom tomato and blueberries =2 “3".

Q23. Profitseeker is willing to get the necessary information for

heirloom tomato and blueberries 2 “5".

b Marsgermert Eduta



Questions 24-26 relate to producing your crop, while
guestions 27-34 are about your resources, including
physical or natural, money-related, human, and personal

& family resources.

PRODUCTION QUESTIONS Jole | Feroom | Bugpeny
24 How well does the crop grow in your area? (1=nof af all. S=very well) 5 5 3
25. Rate your ability fo produce high quality product. (1=low, 5=high) 5 4 3
26. How well does the new enterprise fit with your current farm operation (1=nof at all. 5=very well) 5 5 5
RESOURCE QUESTIONS ol | FErOom | giugbeny
27. To what extent do you own or conirol appropriate land resources? 5 5 5
(1=inadequate, 3=some, J=enough)
28. To what extent do you own or confrol water resources? (1=inadequate, 3=soms, 5=enough) 4 4 4
29. Do you have timely access to the financial resources required for this product? (1=no, S=yes) 4 4 3
30. Do you own or have access to all equipment and facilities needed? (1=no, 5=yes) 5 4 4
31. Do you have access to sufficient labor with appropriate skills when needed? (1=no, 5=yes) 5 5 4
32. Do you have access to the necessary supporting infrastructure in your area? (1=no, 5=yes) 5 5 4
33. To what extent does your family support this new product? (1=low, limited: 5=high, full) na 4 4
34. To what extent will you have the ability, time and willingness to manage this new product? na 4 3

(1=low, limited: 5=high)




: PRODUCTION QUESTIONS Jole | FEOom ke
24. How well does the crop grow in your area? (1=nof af all 3=very well) 5 5 3
I 25. Rate your ability to produce high quality product. (1=low, 3=high 5 4 3
I 26. How well does the new enterprise fit with your current farm operation (1=nof at all, S=very well) 5 5 5
L | | | | | | | | | | | | | | | | | | | | | | | |
— Production questions. |
2 Q24. From experience, Profitseeker knows that tomatoes usually grow
__ well in the area so pole & heirloom tomato =2 “5”. Blueberries seem
2 to grow but whether the harvest period will match the market window is |
2 not known = “3”. _
3
5 Q25. Profitseeker can produce top quality pole tomato = “5” but gives
, himself some leeway for the new crops: heirloom tomato =2 “4”. In ]
 addition, pickers will need to be trained so blueberries 2 “3". —
3 Q26. The Profitseekers believe that either or both new crops would fit

well with their farm and with their direct marketing operations. All 2 “5" —




Resources.

Q27-28. Profitseeker believes land and water requirements will be similar for
all three crops. He has enough land All = “5”, and has some concerns
about having enough water All =2 “5”.

Q29. Hoop houses are not a major cost, so both tomatoes have similar
financial requirements: pole & heirloom tomato = “4”. The costs for field
establishment and the grow out period are considerable, but manageable so
blueberries =2 “3". :

[ = = e e e ===

: RESOURCE QUESTIONS ol | Feroom | Bugkeny
27. To what extent do yvou own or control appropriate land resources? 5 5 5

I (1=inadequate, 3=some, J=enough)

l| 28. To what extent do you own or confrol water resources? (f=inadequate, 3=some, S=enough) 4 4 4

| 29. Do you have timely access to the financial resources required for this product? (f=no, 5=yes) 4 4 3

™30T VO oV Or Mave TteeST o BMMedMPmEM aMT falMied Mo TTendosy gy = =™ ™ ™~ ™ f~ ™4™
31. Do you have access to sufficient labor with appropriate skills when needed? (1=no, 5=yes) 5 5 4
32. Do you have access to the necessary supporting infrastructure in your area? (1=no, 5=yes) 5 5 4
33. To what extent does your family support this new product? (1=low, limited: S=high, full) na 4 4
34, ;_D what exlenﬁt will you have the ability, time and willingness to manage this new product? na 4 3

1=low, limited. 5=high)




Q30. The Profitseekers are set up for pole tomato =2 “5”.
Heirloom tomato and blueberries will require somewhat more

equipment and facilities = “4".

. Q31-32. Labor and supporting infrastructure should be the same for “*"
24 H pole & heirloom tomatoes = “5". Blueberries will need 3
25. R additional infrastructure and trained pickers, but harvest will be 3

26. + when tomatoes are slow, so the same labor force could be used. 5

RESOURCE QUESTIONS Lo | Feroom | g cheny
27. To what extent do yvou own or control appropriate land resources? 5 5 5
(1=inadequate, 3=some, J=enough)
28. To what extent do you own or control water resources? (1=inadequate, 3=some, J=enough) 4 4 4
7% [eyor ey S tm e actTss Tthe™hamial MSoutes Muired fo™his Todaey? M=o =yelir | =4 == =g == =3 'r
30. Do you own or have access fo all equipment and facilities needed? (1=no, =yes) 5 4 4 '
31. Do you have access to sufficient labor with appropriate skills when needed? (1=no, 5=yes) 5 5 4 .
32. Do you have access to the necessary supporting infrastructure in your area? (1=no, 5=yes) 5 5 4 i
we [l e ol Ceec \ieur Tameily SuD Dok Thie o\l 0 ST Ym=ommlimies Jmhefel] s | g —] — —] -
34, ;_D whm exgenﬁt will ‘-_;‘DLI have the ability, time and willingness to manage this new product? na 4 3
1=low, limited; 3=high,




Q33. Both husband and wife agree that they need alternatives to pole

tomato. Heirloom tomato and blueberries =2 “4”.

| Q34. Mrs. Profitseeker will include heirloom tomatoes with her farmers

berry
;. market sales, but they have not yet decided who would be in charge of ;
- restaurant sales. The time commitment to develop and service new  ;—
~; customers IS unknown so heirloom tomato -2 “4”. Ability and time ,
— are greater unknowns with the totally new crop blueberries =2 “3". —
RESOURCE QUESTIONS ol | FEroom | Blucbeny
27. To what extent do you own or control appropriate land resources? 5 5 5
(1=inadequate, 3=some, S=enough)
28. To what extent do you own or control water resources? (1=inadequate, 3=some, J=enough) 4 4 4
29 Do you have timely access to the financial resources required for this product? (1=no, 5=yes) 4 4 3
30. Do you own or have access to all equipment and facilities needed? (1=no, 5=yes) 5 4 4
31. Do you have access to sufficient labor with appropriate skills when needed? (1=no, 5=yes) 5 5 4
i Bl ik £ 0BG S skl || Gl C B8 2 g LI @ | i 1 TS T ikl r Cnbie | Dl r B (i) oo o Do (s S | s ]
33. To what extent does your family support this new product? (1=low, limited: 5=high, full} na 4 4 F
34, |TD wha_l ex;enﬁl will }Jﬂ::nu have the ability, time and willingness to manage this new product? na 4 3 I
1=low, limited. 3=high,
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The last series of guestions are on

Risk Management

:EE F;::i-z:tm Blusherry
27. To what extent do you own or conirol appropriate land resources? | 5 5 5
j0.vhatextent doyyou own of

28. 1 Q35. The three crops are risky in different ways. 4
29 [ - . : . . 3
—— For pole tomato, competition will cause substantial price risk

30. [ s . : . . 4
or. > “3”. For heirlooms, the risks are ability to break into the ;
—, [ estaurant trade and some production uncertainty = “3”. P
FT Because of questions in both production and marketing, p
. ; blueberries are the riskiest of the three 2 *2". 3

(1=iow, nmitea; 2=nign)

RISK QUESTIONS Jole | PEOOM | Bepeny I
35. Given all of the above, how risky is this product? (1=very risky, S=low risk) 3 3 2 I
36. How available are the resources and tools to manage the risks identified? 2 2 2 I
(1=none, S=very available) |
37. Are you willing to accept the risks you have identified? (1=no, f=yes) 4 4 4
38. Are you able to manage the risks you have identified? (1=no, 5=yes) 2 3




Q36-37. These are the same for all three crops. The
Profitseekers have been unable to identify many risk

[ management resources and tools: All = “2”. They are lacbery

- 1o. Willing to accept risk: All 2 “4”. p

” rm Q38. Although they are willing, the ability of the P

o 0o Profitseekers to manage risks is a different issue. They 3

0 0o Fecognize the strong competition in wholesale markets is A

21 0o almost beyond their control, but there is more control in 2

2 Do farmers markets so pole tomato 2 “2”. Restaurants 1

33 To. replace wholesalers for heirloom tomato = “3”. These 1

u To. Markets are the same for blueberries, but because of other 3
| uncertainties blueberries 2 “2”. _

RISK QUESTIONS Jole | PEOOM | Bepeny
sl iy Cmidl Ol 2EI/C mREW EHElY iBuliiSE0dUal (dmpcryweky BmioWwol) = - o o ] - = = S
36. How available are the resources and tools to manage the risks identified? 2 2 2 |
(1=none, S=very available)

37. Are you willing to accept the risks you have identified? (1=no, f=yes) 4 4 4 I
38. Are you able to manage the risks you have identified? (1=no, 5=yes) 2 3 2




An Introduction to
Profitseeker: Crop/Enterprise Screening Guide

We’ve completed the Screening Worksheet. Note
that the rankings are NOT intended to be added up
to get “total scores.”

Instead, our next task iIs find the most important
guestions (up to five) that will help us make our
selection These guestions could help point out the
main weaknesses and threats as well as the main
strengths and opportunities.

We will then use these key factors to help our
decision.




The limit of only five questions “forced” the Profitseekers to focus
on those items that were most important to them. These are in the
list below — your choices would probably be different.

Qs 12 and 13 highlighted the strong profitability of both

alternatives.

Q25 focused on what the Profitseekers thought was a major

strength of their operation,

while Qs 34 and 38 were their main weaknesses.

Most Important Questions (Grower Selected) Pale tomato Heitloom tomato Blugherry
12. profit potentia na 4 5
néazzaant to which profit potential justifies investment na 4 4-5
25_ ability to produce high quality product 5 4 ]
34 ability, time, and willingness to manage na g 3
38 ability to manage risks identiiied 2 3 2




Both heirloom tomato and blueberries look favorable,
with neither having a definite edge. The Profitseekers
did more in-depth analyses and ran some financial
projections, and both crops looked quite favorable.

They therefore decided to try both new enterprises on
a small scale as a trial and then revisit their decision.

This strategy offered three key advantages. First, they
would be able to learn more about the production of
the two crops. Second, they would be able to break
Into the restaurant market at a pace that they could
control with two crops rather than just one. Third,
blueberries take several years to mature so heirloom
tomatoes would help meet interim cash flow needs.




As for the example of the Profitseekers, this guide is
not intended to provide The Answer.

A critical point: however attractive any of the
alternatives appears to be, you need to conduct more
detailed analysis before making a decision. Ideally
you should complete

* A business plan that includes detailed financial
and marketing plans,

o feasibility studies, and
 projected financial statements.

These would show you on paper the effect of the new
enterprise on your overall operation before you
commit any resources to the new enterprise.

The publication lists some resources that may be
useful as you do more detailed analyses.

Sentar for
o Eduscation - ;



An Introduction to
Profitseeker: Crop/Enterprise Screening Guide

SUMMARY

In this overview of Profitseeker: Crop/Enterprise
Screening Guide, we followed the Profitseeker family
as they first described their alternatives (heirloom
tomatoes and blueberries) to their existing enterprise,
pole tomatoes.

We then followed the Profitseekers’ thinking as they
compared and rated the three crops using a series of
guestions.

Finally, we saw how the Profitseekers compared their
alternatives and reached a decision.




An Introduction to
Profitseeker: Crop/Enterprise Screening Guide

This is the end of this presentation.

We would appreciate any comments, suggestions or
other feedback of your experience as you use this
guide. Please emall any of us at

Stuart T. Nakamoto <snakamo@hawaii.edu>
Larry Lev <larry.lev@oregonstate.edu>
Ramiro Lobo <relobo@ucdavis.edu>

Good luck!
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